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There are those who say; 831 ruled: and similarly regarding Gittin

OVERVIEW

After the X7n) cited the initial view of X297 that 7v°)2 01X PR, the X2 cites an
opposing view that 827 maintains %32 01 ¥°. Our M1OOIN rules that "2 ONXR PR
and reconciles it with a seemingly contradictory X723.

= 19023 UIN PRT NP NIYITI HNIN 19929 PO

The 1''9 ruled like the first version (of X27) that 5132 918 N -
= 19N NINN 22 (0w 79 pon) NIIYN YL D7YUN NNIND MNRPII 1IN NN

And the 11" brought proof to his ruling since the X923 stated anonymously in

the beginning of n»w:7 1o, regarding a person who said -
- 191052 DN PN VIN DIYN XY 915 RV 3759 191390 PNYN 1Y N3P0 NY IN

‘If I do not marry until thirty days it should be a v»’, etc. The Xn3 ruled that it
1s a valid v3, because we disregard his claim that it was an 818, since the ruling is
that 91932 ©IIX PR; thus proving the ruling of the n".

Moo concurs with the ruling of the 1"=:
= RNIP NIYIYH NNYHD 3H197 231 D91 95999 111 199RT NIINT NAIDINT ANI) 199

And so it seems that the 70977 is X2p X1w°75 that 1Pv>32 01X X, for according to the
S%RT K2R (Who maintain Y32 01X v°) there are refutations to this view from

all the sources from which the X3 brought as a support to the p''; and even

though the 7"& respond to these difficulties, nevertheless -
= PINT MPYN 1399190 XD

We cannot rely on these inadequate answers.

MooIn asks:?
- (w13, DY) INNY 3 DI PIDNT PNY 19295 AW

And the "' has a difficulty with this view that the 172777 is P32 01X X, for the

X723 concludes in 1N %2 PAD -
=377 99901 TIIYN NI ON 9N ON Pam "IINM *NN ON 7202 N 29D 9INT )aT

! He wrote a 0X to his 701X stating that if I will not make the PXW1 within thirty days, this 3 should become

effective. He did not make the X1 within the allotted time, but wanted to invalidate the v claiming that he did

whatever he could to make the 7R3, but was not able. The X 13 ruled that it is a valid v for 70’32 01X PX.

2 See ‘Thinking it over’.

3 One may think that if he said 77 >27 7YX X2 oX and *7X 192X the X0 was fulfilled (and if 7°0°32 01X X it would be
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That whether he said; ‘here is your w3 if I die from this sickness’, or whether

he said, ‘here is your v3, if I do not stand up from this sickness’ -
= 4PV DIN YT NN V) M RIT SIN 1IN IN YN 19V IX 51%21 1YY Yo

And the house collapsed on him, or a snake bit him, or a lion devoured him, in
all these case it is not a va (this ends the citation from the X723 there); it is evident
that @932 918 @ (and therefore it is not a V) —

MvoIN anticipates a response to his question:
= D) %N RDT 9INRP DNN YT DYUN XD DNNT 999919Y XD

And we cannot answer that there, it is not on account of v°)2 218 @ that the

X712 rules that it is not a ¥ (as the *"1 would have us understand) -
= 599911 DT NNRNN MNIY ¥NPYN THINYN NI ON a2 M "INN SN ON %27 QYN NYN

But rather the reason why it is not a v is because that whether he said sn» an
777 593 or whether he said TyR X% ar from this sickness, either way his intent

was that the va should be effective only if he dies because of this sickness -
= 12NN NTPINT VI 1IN YN IDWI IN $1%3N 1YY HIW

However when the house collapsed on him or a snake bit him, it is not a w3,

because this is not considered that he died from this sickness; but it has nothing to
do with 011X ¥ or 01K 'R, thus resolving the s""7 difficulty —

mooIN rejects this response:
= NN OIX VT OYLNT 0NN NYTNA NI NNT

For it is explicitly evident there that the reason it is not a v is because °IWR w2

7122 (and not because the *Rin was not fulfilled), MooIn clarifies; for -
= 79915 NA TIYINONT NN DI NYYY 69529 Nr9aNY NYIN 12217 N92) NINN )

Regarding that person who sold land to his friend and the seller accepted upon
himself to be responsible for any misfortune that will develop, etc.

a valid v3), however if he said 731 *2n >N aR and >R 192K, the *Xin was not fulfilled (since he did not die 771 *7mn),
and it would not be a v (even if 7¥°32 OIR °X), nonetheless the X723 maintains that in either case it is not a v
because (as NM»dOIN understands [now]) 1°v°32 01X ¥, but not because the *RXin was not fulfilled (for [even] >n»n X
717, can be interpreted to mean that I will die before I recover from this sickness and indeed he did).
4 If we maintain 1v>32 01X X then the v3 should be valid since he never recovered from the sickness. However, if @°
1032 D1 it is understood why it is not a v3, for his lack of recovery was due to an dO1X.
5> According to this understanding (of the 1% X3'9), even a1 *21M» 7YX R? means that I will not recover, but I will
die from this sickness, which did not happen when »X Y92, and therefore the >Xin was not fulfilled and the v3 is
invalid, but not because of 1°0°32 01X ¥"°. [See footnote # 3.]
® The seller guaranteed the field and that no matter what will happen, the seller will make the sale good to the buyer.
" The king then ordered that the river be diverted and be made to flow in this land which was sold. The buyer whose
field was ruined wanted compensation from the seller, who accepted responsibility for 72 7°7°n°R7 ROIK 2.
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= 810 19N YN IDANT NN RNYHD N29 2N NN NIV NDT DIN NI9 99N
X327 ruled that this is an uncommon 1R (the seller cannot be held responsible),
and X121 brought proof that one is not responsible for m>w &7 01X, from the
previously mentioned case where the lion ate him, where the ruling is that it is not

a va. moon refuted this alternate explanation and now M0oIN reiterates his original question -
- IN2YD DIN MYV VWO NIV NIT DN NIADN

It is evident that according to X2, there is o138 niyw by an 5w K97 21N -
= 9P NINY NNP NIYIHa 7999 XA 9INRP NN

And here the very same X271 maintains in the ', which is the accepted version -
= 10NN NIMTI NIV NYT DIND I1TON DN PNRT

That 2238 1°X even by an r°>w K97 22X as is evident in the X923,

MB0IN answers:
- 195 DN 2399Y /)T PHN 139249 9IINY

And the 5''1 said that there are three types of 91X -
= DIN Y NINT NIYT NP NIYWIHY 179N 12ANRY 20T NYNND HID NYOYW NIT DINT

That by an o13R which is altogether uncommon like the 01X in ¥RRW % pI2,

even according to the "% of 829 here (who maintains DX °X), we say B3N @ -
— 13mx199 0IVN MY DIVN JPNY 0NN TV XYY

For it is not applicable to enact in such a case a ruling of 011X X because of the

My and because of the Mx192; and MdOIN explains -
- 18555 15 KT 119 YN WDV IN 11%27 1YY Y937 PN 2920 XY 0y

8 This proves that the reason it is not a v (when he said 77 > N O or A7 71N TIMYR K7 OX and X 179K) is not

because the *Xin was not fulfilled (for if this is the reason how can X237 derive from this that one is 5 for X7 01X

m°ow) but rather it is not a V3 (even though the “Xin was fulfilled) because P©°32 DR W,

 We see it from the way X237 derived from >7X 199X that 01X @> and applied it to the case of the field that o1 NI v

10 The 87ma replies (on the proof from X721 Xpos, which indicates that 032 O1X PR) that *IXW 1°5W7 01X, and by such

an 01X even if we maintain P02 01X ¥, however there is no 01 by an m>w7 oK. This proves that when X217 ruled

P12 DI PR it was by an m°5W R?7 DIN.

1 In the question N190N assumed that there are two types of ONIX; an MW7 ONR (where all agree 11’32 01X PX) and an

m°ow X927 01X (where there is the dispute between the two MW of X171 and) therefore there is the abovementioned

contradiction between X271 here and X271 in wnXw *». The answer is that there are three types of 01X.

12 Being devoured by a lion or having the river diverted into your field is an 992 773w 857 01X,

13 The p"% here maintains that even though 7°0°32 011X U, nevertheless we rule 01X 1°X (and the v3 is valid) because if

we would rule onx v the My will never remarry because they are concerned that perhaps the *Xin was fulfilled

(the husband did not return) only because of an 01X (so the va is invalid). The opposite is true of the mx15 that even

if there was an 01X (unbeknown to us), and the 03 is invalid, they will (falsely) argue that there was no 01 and they

are permitted to remarry. Therefore the 225m enacted that 01X X and if the °Xin was fulfilled (regardless of the

circumstances; 01X or no 01X) the vi is valid, so the M¥1¥ need not be concerned and the MX1M9 are remarrying

legally. However if there was a verified 725 m°ow 827 01X, the va will be invalid. See footnote # 14.

14 Even if we rule that by an 973 "W X7 O it is not a b3, there is no concern that the My13¥ will not remarry (when
3
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For the myux will never imagine that the house collapsed on him or that a

snake bit him, since it is %> mow 8> -
- 1619 15y NYAY X1 1199 YHIY XY 53 MENI9 DIUND)

And there is also no concern for the nxy9s, since it is not common that this

should happen. This is one type of o1 (which is 993 MW X?) where the rule is 01K v”.
= MINNY 19T SPAINT DIN PN 29INT RIIND 1P99N X921 NPPUIT NONN 1D NOYT UINY

And by a common ®o1R, for instance by the person where the river prevented
him from coming, even according to the 7''8 (who maintain w32 01X ©°) the

ruling would be o218 PR, for he should have stipulated that in case 1 do not come

because of X72n Xpod (or something similar and common) it should not be a 3.
= 178297 W5 Y90 209 NNA NYIY NI NYAVYT DIN YaN

However by an o1% which is somewhat common but not very common (the

third type of 01IX), that is where the two versions of 839 argue whether 018 v or X
DI -

DIV975 AT NP NIWIYS NNaYM
And the ruling is like the X277 »''% as we explained previously that P32 01X PX.

SUMMARY
By an 595 m°ow R?7 01X all agree that 01X @, by a common 01 all agree that X
01X, by a not so common 011X, there is the dispute between the two versions of ¥27.

THINKING IT OVER

It appears from mooIn that the question from 1XYW 1 is (only) if we maintain that
the 719777 is 772 01X PR.!® However, even if we do not rule Pv 32 01X 7°X, there is
nevertheless a contradiction between the "7 of X217 which maintains 7132 DR "R
and the X3 in IRW °» where X271 maintains 732 01X w!°

the >Rin was fulfilled) out of concern that perhaps an 992 m>ow &%7 01X caused the husband to fulfill the >Xin (and
therefore it is not a v3), because since it is 725 5w X they will never assume it. See footnote # 13.
15 This should be (seemingly) read: A%»p PYmM 178 7"17; meaning, ‘that it should happen’.
16 There is also no concern that since we say that by an 973 2w X?7 DIX it is not a 3, there is the possibility that
there was an 95 oW 97 01X (and the 3 is not effective) but the mx10 will claim that it was not an 2w 897 01X
593 and remarry, for since it is 725 19w X? we cannot make a 77°13 by something which is 973 maw X5.
17 Therefore, there is no contradiction, for the X723 in ¥NRW *», which rules 01X ¥ is discussing an %93 2w K27 DX,
however our X3, where X231 rules (according to the p"9) that 1032 01X PR, is discussing an 01X which is X9 7°5W
mow.
18 See footnote # 2.
19 See 7"mn and 7w a7,
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